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Eight persons P, Q, R, S, T, U, Vand W live on 4 different floors of the same building, such
bottom-most floor is numbered 1 and the floor above 1 is numbered as 2 and so on till the
topmost floor is numbered as 4. Each floor has two flats, flat 1 and flat 2. Flat 1 is exactly to
the west of flat 2. Only one person lives in each flat. P lives in odd numbered floor in flat 2. R
lives immediately above P. Two floors between R and W and both of them lives in different flat
number. Only one floor between T and S and both of them lives in different flat number. Q
lives immediate northwest of S. U lives below V but not on the adjacent floor.

S ITFTP, Q, R, S, T, U, VIR W T & SART F 4 - Al W R &, o8
a8 A= fr Aforer Hraear 1 § 311 1 F I Hr Aforer Hr gar 2 § 31 5@ g ged 39
AT AT HEAT 4 g1 T3S ATTT A gl Fele &, Fele 1 31X Fele 2| Fole 1 Fole 2 & S aRTH
H 21 IAF Fole H shadl T ITFd @dT ¢l P, Fole 2 # fAwH F&aT arell AT W @ATRI R, P
& 81h IR IEAT 21 R 3R W & N &Y AfSe & 31T 1= 3Te9r-31e19T Fele HEAT A WA &1 T 3T
S & 1T Fdel T Aforel 31X 3 AT I AT-3T9T Fole FEATH B &1 Q, S F Sh ITR-IRaA A
YEATR1 U, V & A= TgaT & et F9Ter arelt AfSrer U 78! W@aT ¢l
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Eight persons P, Q, R, S, T, U, Vand W li

on 4 different floors of the same building,
such that bottom-most floor is numbered 1
and the floor above 1 is numbered as 2 and
so on till the topmost floor is numbered as
4. Each floor has two flats, flat 1 and flat 2.
Flat 1 is exactly to the west of flat 2. Only
one person lives in each flat. P lives in odd
numbered floor in flat 2. R lives
immediately above P. Two floors between R
and W and both of them lives in different
flat number. Only one floor between T and S
and both of them lives in different flat
number. Q lives immediate northwest of S.
U lives below V but not on the adjacent
floor.
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11) Who lives on flat 1 of the 3rd floor?
A AT & wele 1 W #ieT Ear 8§72
a)Vb)Tc)Sd)Qe)P

12) As many floors above U is same as below _?
UF 3R et Aafaar 3a«t & R g7
a)Pb)Rc)Qd)We)S

13) Who among them lives on even numbered floor?
3TH ¥ I TH &IT arell AT 9 JAT 872
) R )T ) Q

a) Only (1) and (1)

b) Only (l1) and (lI)

c) Only (ll1)

d) Only (1) and (Ill)

e) All are (1), (1) and (1ll)
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Bl I N ., o et 17,

a)Rb)Uc)Pd)Se)V

15) Four of the five among the following are similar

in such a way to form a group, which one of the
following doesn’t belong to the group? fArafafad

AW IH A Y IR Th WAE da & AT qa =T
g, ﬁmﬁﬁaﬁ#mmﬁmmﬁ%’?

a)V,Pb)T,Uc)Q,Sd)R, Te)Q,
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1.In a row where all are facing north, Priya is 15t'from the left end and Garima is
19thfrom the right end. They interchange their positions, and Ram who sits 24th from
the left end sits at the 5th place to the left of Priya’s new position. How many persons
were there in the rowquﬁ?rframmﬁma?rmmg T 917 8 @ 159 ¥ W §
3R TIRAT qW BR T 197 TR W ¥ § HYN T NGF H g6 od §, 3 T S 90 SR ¥ 243
TIH W d5a1 &, AT & A0 T F 90 F 59 TYH W d5a1 §1 9fFd F Fax safFq 92

(A) 36

(B) 42

(C) 47

(D) 56

(E) None of these
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2.During a prize distribution ceremony, Vikram was ninth from the left while
Janhvi was eighth from the right in the front row. If Hariom was thirteenth

from the left and was exactly in the middle of Vikram and Janhvi in the same
row then what was the total number of people in the front row? e &R

Aawor FARE F e RFH v & Al safF Segd) 3ma ) 9fFg & o0 § 3T TF W
ot Ife BT T T RET TIT W o971 3N [AFA 3R egdl & S fig & v & 9fFa &
o1, at 3mer Fr 9fFT A A A Fo gEAT e di?

(A) 18
(B) 19
(C) 21
(D) 24
(E) None of these
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3.In a north facing row of NCC Cadets, Trisha is 9th from the left end and
Tina is 12th from the right end. There are 5 cadets between Trisha and Tanya

who isaé%ual distant to Tina. Find how many cadets are there in the row?
TerE Tl # a0 A ufFa &, Pem 9w sk & 99 e W ¢ 3R & g B @ 129
Fﬂﬁgl%qwaﬁtma;aﬁasa@z%mam#mww%l Aa fqfae & afFa
fFaar ?

(A) 34
(B) 32
(C) 31
(D) 33
(E) None of these
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4.In a queue of students facing north, Ayesha and Anisha are standing at
10th and 8th position from the left and right end respectively. If another
student Ariva who is 12th from the left end is exactly in between Ayesha and
Anisha then find the position of Ayesha from right end ? 393 & 3R 3*@'@ oEl
I Th HAR H, ATIAT X e FAA: 90 3R g0 SR F 107 3R 8T TUH W @3l ¢l
IR TH e O HRET, A 9 SR F 124 ¥, smgem 3R sehem F S Aw A § ar g
B & 3TAAT T T AT HifaA?

(A) 10th
(B) 12th
(C) 15th
(D) 8th
(E) Can’t be determined
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5.In a row of girls, Nivedita is 15th from the left and Vimla is 23rd from the
right. If they interchange their positions, then Nivedita becomes 18 th from
the left. Then at what position will Vimla be from the right? In a row of girls,
Nivedita is 15th from the left and Vimla is 23rd from the right. If they
interchange their positions, then Nivedita becomes 18 th from the left. Then
at what position will Vimla be from the right?

(A) 24th
(B) 25th
(C) 26th
(D) 20th
(E) None of these
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6.Five boys were climbing a hill. J was following H. R was just ahead of G. K
was between G & H. They were climbing up in a column. Who was the second?
9T JI% U YgIsl W ¢ 1§ A1 J, H FT HTEI0T I W@ A1 R, G F &F 30T 41l K, G 3R
H & dr & o1 § o Sfow & 39 9 @ oA qET et 4T?

(A)J

(B) H

(C) K

(D) G

(E) None of these
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There are six boxes U, V, W, X, Y and Z in a room, each
having a different number of toffees. X has more
toffees than only 2 boxes. U has more toffees than Y
but less toffees than Z. U has more toffees than W but
less toffee than V. Y is not the box which has the
lowest number of toffees. V doesn’t have odd number
of toffees. The box which has 2nd highest number of
toffees has 35 toffees. Tah HAT A o0 CIC2:) u,v,
w, X, Y3R z8 O9dH & 9% A 3rAT-31eeT
TEAT # CIMhAT &1 X I shad 2 FFdT &
3% ey 81 U 99 YH 38+ eifthar §
U & Fftw <

fogs ey fY g&ar 99 FH g1 Ve 9 A
EIT # Ifhar AT &1 99 3 & aifthat &y
qadl a9 8w WEAT 8, 3WA 35 cifhaAT Bl
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If the box X has 27 toffees, then what will be the
possible number of toffees U have? A. 37 B. 38 C.
28 D. 24 E. None of these

. If Box W has 5 toffees and Box U has 5 times
toffees of Box W then what will be the possible
toffees does Y have? A. 26 B. 29 C. 27 D. 14 E.
None of these
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Ramya bought five sweets with different
weights. The weight of Jalebi is more than the
weight of Jamun. Ramya bought 5kg of Mysore
Pak which is the lowest weight among other
sweets. Two sweets are weighed in between
Halwa and Ladoo which is less weight than the
Jalebi. She bought 25kg of Jalebi. TFAT o 3T l9T-
AT aoiel aﬁr grg Aersar @il sreE &1
qc|o1 ST & dold W SIIET gidar §. a0
5 fral AT aTF wlheT N e ot
:ﬁr m FH I &1 goaT 3R o33 & o
& &) eEal ad S § oY SN F FA
golel #T gl &. 3T 25 fFal Fadr @l
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How many sweets are more weights than Ladoo?
a)2b)3c)1d)4e)None

If the sum of the weights of Jamun and Mysore
Pak is 25kg, then what is the sum of the weights
of Jamun and Jalebi? a) 50kg b) 40kg c) 45kg d)
35kg e) None 5) As many sweets weight is more
than Halwa is same as less than____ ? a) Ladoo b)
Mysore Pak c) Jalebi d) Jamun e) None of the
above
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There are six persons M, N, O, P, Q and R of different weights. N is heavier than only R. Two persons
are either lighter than Q or heavier than Q. P is heavier than M but not the heaviest one.

—qﬁ‘chNopqaﬁTRmmaa?r#%%lNWR#W%Ia’r—QﬁT—rma’rQ#
geh e AT QU A &1 pMA HY & AfhaT gad 0y €T 2 | |

If M is heavier than only two persons than what is the
position of Q? a) 2nd heaviest person b) Heavier than M c)
3rd lighter person d) Lighter than M e) None of these

Who among the following is heaviest? a) Qb) M c) Nd) P
e)O

If the weight of N is 45kg then what may be the weight of
R? a) 60 Kg b) 48 Kg c) 56 Kg d) 90 Kg e) None of these
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Five cots-Cot-1, Cot-2, Cot-3, Cot-4, and Cot-5 have different lengths. The length of cot-1 is more than the
length of cot-5 which length is less than cot-4. The length of cot-2 is the least among all. The number of
cots which length more than cot-1 is same as that of less than cot-3. The length of cot-3 is 140cm. qrT
gle-le-1, @le-2, e-3, ®e-4, 3T @e-5 Y dd1E -39 gl cot-1 T TS cot-5 FT JIaS
¥ J0F T WA d9E cot-4 T FH &1 We-2 i dare gt & ga@ s ¢ @re-1 ¥ 3f%F
odl @R T TE&IT, Wre-3 ¥ FH $I @Rl HT TE&IAT & A gl cot-3 T T 140cm B

How many cot’s lengths are more than cot-5? a) One b) Two c)
Three d) Four e) None

If the length of cot-1 is 190 cm then what may be a length of cot-
5?a)195cmb) 120 cm c) 180 cm d) 200 cm e) 135 cm
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Six persons with different monthly salaries are arranged in
descending order as per their earnings. Surya earns more
than Kunwar but less than Anil, who does not earn the
highest salary. Manoj earns less than Yogita but more than
Lalit who doesn’t earn more than Kunwar. Surya earns more
than Manoj. Manoj does not earn the 2nd lowest salary. The

second highest and third-lowest salaried persons earn RS.
60000 and 40000 respectively. 3eIT-37A9T ATRAS dAdeT
aiel B SAFadl P 3dh FAS & HTAR HANE FA
# sgafdyd fHar Srar 81 93 Fa @ AfoF Afda
AT & FH FATCET g, S I8 AP ddeT A1 Hford
HIAT g1 FArT Gifrar ¥ F7 dfraT afed @ s
FAAT ¢ N FaX & 30w 78 FaATT 31 GIAT 7S @
HTH FATAT &1 FAYST GE FAW A A AL IATor
FIAT 81 G Ha8 ST AR AW wa@ w1 adqarenh
IfFd IRTH FATT &1 HAA: 60000 31X 40000]
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Who among the following person earns the
highest salary? A. Yogita B. Manoj C. Lalit D. Anil E.

None of these

If the difference between the salaries of Lalit and Anil is Rs
30000, then what will be the sum of monthly salaries of

Manoj and Lalit?
A. 59000 B. 70000 C. 57000 D. 52000 E. None of these

Who among the following person earns just less than Anil?
A. Kunwar B. Manoj C. Surya D. Lalit E. None of these
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